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1st round –  6th March – 6th and 7th class
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Individual work

Difficult vocabulary: (b) improve, case; (c) quiet; (d) boring,
shut something or someone up (e) report

Ask the whole class which jokes they think are the funniest
and check that everyone has actually understood them.

Key: 2b, 3d, 43, 5, 6e
b) can, ¢ can't, d) can, e) can‘t, f) Can

28 Teacher jokes

1 Individual work

Difficult vocabulary: (b) chew; (c) copy, check (v); (d) keep
doing something; (f) manage

Key: b) Are you chewing, o) are you copying, am just
checking d) do you call, e) like, f) do you manage, arrive

Pair work
Difficult vocabulary: joke, riddle, at this very moment

As an alternative, you can put the phrases on separate
pieces of paper. Then follow this procedure:

* Divide class into groups of three.
« Give two slips of paper to each person in the group.
« In turn, each person reads one slip of paper.

« Without showing one another their slips of paper, they
try and work out what the order is.

The game). Then the otfier members of the group ask
questions until they find the solution.

Alternatively, the whole class can ask you the questions.
Key:

Does he know someone on the 13th floor? No.

Does he want to do some exercise? No.

Is he superstitious? No.

Does he suffer from vertigo or claustrophobia? No.

Does the lift go from the 13th floor to the 20th floor?
Yes.

Is it relevant that he works in a bank? No.

Does he always get out of the lift at the 13th floor? No,
If he's not alone in the lift, does he get out at the 13th
floor? No.

Does he have a particular problem? Yes.

Answer: Joe s too small to reach the 20 button in the lift.
Clearly, if he is with someone else in the lift who is going
to his floor, he will be able to get out at the 20th floor.

30 Chatline acronyms

Difficult vocabulary: acronym

Remind students of the potential dangers of using chatlines
and chatrooms - tell them they should never arrange to
meet someone without their parents' permission and never
give out phone numbers or addresses.

1 Whole class

2 Whole class

Before doing the exercise, ask students if they recognise
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children, cousin; in the female section: aunt, daughter,
niece, sister

Group work

Difficult vocabulary: brainteaser; (b) three times, twice;
(0) sure, that's right; (d) related; (e) point (i)

Set a time limit

Key:

a) grandmother, mother, daughter

b) 12

) There are two men and ezch marries the mother of the
other man. They both have one son from this marriage.
So each of the sons will be both uncle and nephew of the
other. (Students may also come up with other valid
solutions.)

d) Cristina is Emma’s mother.

&) The boy s the sister's son.

f) Four. The father and mother are brother and sister, one
having one son, and the other a daughter.

17 Jail break

Individual work
Key: 2 must, 3 cannot, 4 can, 5 cannot, 6 must
See page 19

18 Coin game
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] TRETE are TN Tact TOUT Crosses I The PIcture; the bIggest
one is the one that divides the four pictures.

20 Numbers

Pair or group work
Difficult vocabulary: password
Set 2 five-minute deadline.

Key: eight. The code is in the number of letters in each
number, e.g. o-n-e has three letters so you say ‘three’.

Individual work
Difficult vocabulary: grid, add up to
Key: see page 20

21 School bus

Note: Read page 5 of the Introduction for ideas on how to
conduct and exploit lateral-thinking games.

Individual work

Difficult vocabulary: get off, ride

At this point students do not attempt to answer the question.
Individual work

Difficult vocabulary: on time

Make sure students know that some is used in affirmative
sentences and any in negative sentences. N.B. This exercise
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children, cousin; in the female section: aunt, daughter,
niece, sister

Group work

Difficult vocabulary: brainteaser; (b) three times, twice;
(0) sure, that's right; (d) related; (e) point (i)

Set a time limit

Key:

a) grandmother, mother, daughter

b) 12

) There are two men and ezch marries the mother of the
other man. They both have one son from this marriage.
So each of the sons will be both uncle and nephew of the
other. (Students may also come up with other valid
solutions.)

d) Cristina is Emma’s mother.

&) The boy s the sister's son.

f) Four. The father and mother are brother and sister, one
having one son, and the other a daughter.

17 Jail break

Individual work
Key: 2 must, 3 cannot, 4 can, 5 cannot, 6 must
See page 19

18 Coin game
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] TRETE are TN Tact TOUT Crosses I The PIcture; the bIggest
one is the one that divides the four pictures.

20 Numbers

Pair or group work
Difficult vocabulary: password
Set 2 five-minute deadline.

Key: eight. The code is in the number of letters in each
number, e.g. o-n-e has three letters so you say ‘three’.

Individual work
Difficult vocabulary: grid, add up to
Key: see page 20

21 School bus

Note: Read page 5 of the Introduction for ideas on how to
conduct and exploit lateral-thinking games.

Individual work

Difficult vocabulary: get off, ride

At this point students do not attempt to answer the question.
Individual work

Difficult vocabulary: on time

Make sure students know that some is used in affirmative
sentences and any in negative sentences. N.B. This exercise
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15 Crazy conundrums

1) Match the prepositions to the diagrams.

2) Put prepositions into the correct spaces.

a) There are three mice in a box all facing the same direction.

The first mouse says: ‘There are two mice (1)

The second mouse says: ‘There is one mouse (2)

The third mouse says: ‘There are two mice (4)

There are no mirrors in the box.
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behind . me-
me and one mouse (3)

me and two mice (5)

a) next to

b) towards
©) under

d) in front of
) at

1) behind
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Put prepositions into the correct spaces.

a) There are three mi

in a box all facing the same direction.

The first mouse says: ‘There are two mice (1) ... behind me.’

The second mouse says: ‘There s one mouse (2) me and one mouse (3)
The third mouse says: ‘There are two mice (4) me and two mice (5)

There are no mirrors in the box.

Explain.

b) There are three large people standing (6) each other (7) one small
umbrella. But no one gets wet.

How is this possible?

©) There is a man is dressed entirely in black, wearing a black mask and standing (8) abus

stop. There is a blackout and none of the street lights are on. Suddenly the man decides to cross the road.
At the same time a car, with no headlights on, comes very fast (9) .... the man. But the car

easily turns in time and doesn't hit the man. How does the driver manage not to hit the man?
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©) Compare your original plan with the final plan of your house /
apartment. How different are they?
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@) Find your way.

The apartment below has nine rooms (A to I).
Starting and finishing from the outside, visit each room at least once.
You must not go through the same door twice.
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1) Can you solve this andient riddle?

As long as | eat, | live - but when | drink, | die. What am 1?

2) Put the verbs from the box into the spaces.

(becomes comes -gees has has holds is moves spell useD

a) What @0E........ round the house and in the house but never touches the house?

b) What is yours but Others ........................ more than you?

© What once in a minute, twice in a moment, but never in a thousand years?

d) What is it that is lighter than what it

made of and more of it is hidden than is seen?

) What do you use in the bathroom that water but is full of holes?

) What 50 heads but can't think?

) What bigger the more you take away from it?
h) What word does every dictionary incorrectly?
i) What turns everything round but never ?

i What 50 legs but can't walk?

Work in groups.

Can you work out the answers to 22
If you can't, then match each question to one of the pictures below.
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i What 50 legs but can't walk?

Work in groups.

Can you work out the answers to 22
If you can't, then match each question to one of the pictures below.
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41 Beastly brainteasers

1) Workin pairs.

First read all the puzzles (a, b, ¢, d) below and decide which two are the easiest and

which two are the most difficult.

a) The Duchess of Sasso Ritto had six picces of silver chain, with four links in each piece.
She went to a jeweller and asked him to make it into one long chain, open at both ends.
The jeweller said: “The cost will depend on how many times I open and close a ring,
The more rings | open and the more rings I close, the more it will cost you. So, if T open
the end of cach chain and link it to the next, that will be ten operations, because each

opening is one operation and each closing is one operation.”
The Duchess replied: “That would cost too much. Please do it in eight operations.

Did the jeweller manage to do it in eight operations?

oY Qo> O
Qo> Y Ao

b) Look at the four lines below. Draw in five more lines to make ten.
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b) Look at the four lines below. Draw in five more lines to make ten.

©) Use 14 coins and place them along the edges of your desk, so that there are the same
number of coins on each edge.

d) Make two triangles using five matches or pens.

2) Work in pairs.

Now solve the two puzzles which you thought were easiest.
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